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1. There are more _________________ than primary consumers.
2. Organisms that eat other organisms are __________________.
3. Organisms that make their own food are _________________.
4. Grass is considered a _____________________.
5. A zebra (grass eaters)  would be considered a _________________.
6. Lions (zebra eaters) would be considered a _________________.
7. If there is 12,345 kcal of energy available to the produces, how much will be available to the primary consumers?

a. How much will be available to the secondary consumers?
b. [bookmark: _GoBack]How about the tertiary consumers?
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